Concept of Leverage Ratios 4xil )l (o amlis

Leverage ratios are used to determine the relative level of debt load that a business
has incurred. These ratios compare the total debt obligation to either the assets or
equity of a business. A high ratio indicates that a business may have incurred a higher
level of debt than it can be reasonably expected to service with ongoing cash flows.
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The two main leverage ratios are:

> Debt ratio (4 sl 4,
Compares assets to debt, and is calculated as total debt divided by total assets.
A high ratio indicates that the bulk of asset purchases are being funded with
debt.

> Debt to equity ratio (Sl s A cpall d),
Compares equity to debt, and is calculated as total debt divided by total equity. A
high ratio indicates that the business owners may not be providing sufficient
equity to fund a business. Leverage ratios are essentially measures of risk, since
a borrower that cannot pay back its debt obligations is at considerable risk of
entering bankruptcy protection. However, a modest amount of leverage can be
beneficial to shareholders, since it means that a business is minimizing its use of
equity to fund operations, which increases the return on equity for existing
shareholder
Leverage Ratios :  Adlall dliall o
A leverage ratio is any one of several financial measurements that look at how
much capital comes in the form of debt (loans), or assesses the ability of a
company to meet its financial obligations. The leverage ratio is important given
that companies rely on a mixture of equity and debt to finance their operations,
and knowing the amount of debt held by a company is useful in evaluating
whether it can pay its debts off as they come due. Leverage Ratios for
Evaluating Solvency and Capital Structure. The most well-known financial
leverage ratio is the debt-to-equity ratio. It is expressed as:
D/E Ratio = Total Debt + Total Equity

The equity multiplier is similar, but replaces debt with assets in the numerator:
Equity Multiplier = Total Assets + Total Equity



The equity multiplier is a component of the DuPont analysis for calculating return
on equity (ROE):

ROE = Net Profit Margin x Asset Turnover x Equity Multiplier

An indicator that measures the amount of debt in a company’s capital structure
is the debt-to-capitalization ratio, which measures a company’s financial leverage. It is
calculated as:

Long-term Debt to Capitalization Ratio = Long-term Debt + (Long-Term Debt +
minority interest + equity)

In this ratio, operating leases are capitalized and equity includes both common
and preferred shares. Instead of using long-term debt, an analyst may decide to use
total debt to measure the debt used in a firm's capital structure. The formula, in this
case, is:

Total Debt to Capitalization Ratio = (current liabilities + Long-Term Debt)
+(current liabilities + Long-Term Debt + minority interest + equity)

Degree of Financial Leverage 4l 4x8l )l 45 )2 Degree of financial leverage (DFL)
IS a ratio that measures the sensitivity of a company’s earnings per share (EPS) to
fluctuations in its operating income, as a result of changes in its capital structure. It
measures the percentage change in EPS for a unit change in earnings before interest
and taxes (EBIT), and is represented as:

% Change in EPS
DFL =

% Change in EBIT
DFL can also be represented by the equation below:
EBIT
DFL =

EBIT-Interest

This ratio indicates that the higher the degree of financial leverage, the more volatile
earnings will be. Since interest is usually a fixed expense, leverage magnifies returns
and EPS. This is good when operating income is rising, but it can be a problem when
operating income is under pressure.



Leverage Degree Analysis dad) 1) da 3 Jalas

A lever is defined as the extent to which profits can be increased in an enterprise as a
result of increased reliance on fixed costs or borrowed funds or together. Thus, the
concept of crane covers three main areas:

1. Operational leverage: It is linked to the cost structure.
2. Financial leverage: It is linked to the financing structure.

3. Common leverage: A combined result of the operational and financial leverage.
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Contribution Return
Operational leverage =

Net operating Profit before Interests and taxes

This means that any change in the number of units sold will result in a positive
(or negative) change in the net profit, so that the operational leverage is a key
indicator of what is known as business risk or operational risks.
Another method to calculate the operating leverage by using profit as a
percentage of sales is to what extent the change in the operating profit of the
change in sales is accounted for by the following equation:

Operating Profit Change Ratio

Sales Change Ratio
Financial leverage dllall dad)
A financial leverage is defined as the extent or proportion of the increase in
profits as a result of the use of the money of others in the business of the firm
Net Profit before Interests and taxes
Financial leverage =

Net Profit before taxes
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Common leverage (Total) ((Asl)As jidial) dad )

A common leverage is defined as the extent or proportion of the increase in
profits due to the optimal use of fixed costs and the use of borrowed funds in
operations.

The common leverage is measured by the following equation:

common leverage = Operational Leverage Degreex Financial Leverage Degree

Contribution Return Net operating Profit before Interests and taxes
= X
Net Profit before Interests and taxes Net Profit before taxes
Example :

The sales of the Company (x) were (400,000) IQD. The variable costs of these
sales amounted to (150,000) IQD. The fixed costs were (50,000) IQD and the interest
was 10,000 IQD.

Required : Prepare an Interpretation and analysis of:
1. Operational Leverage Degree.

2. Financial leverage Degree.

3. Common leverage Degree .

solution :

1. Operational Leverage Degree = Contribution Return/ Net operating
Profit before Interests and taxes

DOL= (400,000 — 150,000 ) + 400,000 — (50,000 + 150,000)
DOL = (250,000) + (200,000) =1.25times



This means that each change in the number of units sold by one unit will result in a
positive net change in net profits of 1.25 times.

2. Financial leverage (DFL)= Net Profit before Interests and taxes /Net Profit
before taxes

400,000 - (50,000+150,000)
DFL =

400,000 - (10,000+50,000+150,000)
= 200,000/190,000 =1.053

Since the degree of leverage is positive and greater than the right one, it means that
the decision of the firm to invest in borrowed money was a sound and feasible
decision, it was able to achieve a profit that covers the interests of debts and achieve a
net profit.
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3.common leverage = Operational Leverage Degreex Financial Leverage Degree .
DCL =1.25x 1,05=1.31times

In this case the company has achieved a degree of operational leverage positive as
well as the degree of financial leverage positive, the degree of common leverage will
be affected by both grades, which led to a positive degree of common leverage also.
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